Construction division. Advice for giving credit to contractors/suppliers.

SI, No. – site hills register	Ч	The state of the s	Décriment	Date Regis	- site bill	3	03.0	2.2023	
Company Name:	Crescent	linlay At	ti	Site:			THE RESERVE OF THE PERSON NAMED IN COLUMN 1	One	
Name of Contractor	T. Kurmanna								
Nature of work	Encaration, Dressing and hole dillings					In .			
Work done	Dato	The state of the s			Date	Date by or 2			
Sl. Villa/Flat/block no.	Ó	lty.	Rate	-4-6	Units	Amou		Contractors bill no	
1. South block Hole dill	ling	210	R	40	Rft	81	f 0 0		
2. Into back to be his	ings	-		-					
3. Compound Walleast		082.4	21	b	CH	2	165		
4. Oxcavation & Dress		360.91			SFY		361		
5. SIE office encor	wiaj	744	2		Ch	14	-88		
6. Dreming	-{ -	160			3#		60		
1.0.0	4	160	5		SJV		300		
I steel smitting	_	10.	4		Tom	3	9 0		
Itrom VIDI JIde	6							-	
14011 STACY DU	otal:					11.	374/		
Bill required		<u>л</u> по.		GST	bill requi		ETYES T	NO.	
Measurement &	U Keq	/	····		urement		Enclos		
estimate sheet:		required		estimate sheet:			· ·		
PO/WO no.				PO/WO date:					
Remarks:									
Approved by Project Mana	ager	Appro	ved by Design Team			App	Approved by M.D.		
Date: 03/02/202	?	Date:	_			Date	:		
Sign: Sign: Sign:									

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement shorts are not required for turnkey jobs where guideline rates are clearly given.

0 3 FEB 2023

Suite Reddy

Societ Manager

ESTIN	MATE SHEET		-					
Company Name:		Crecentia Labs Pvt Ltd	Approved by:		Subba Reddy			
Projec	t:	GV ONE	Sign:					
Work	Description:	Excavation, dressing and hole drilling	21-01-2023					
Contra	actor:	T. Kurmanna	Work end date: 02-02-2023		02-02-2023			
Prepar	red By:	Abdul Rahman	Date: 03-02-2023					
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item head total	
1	South block South west 6 footings	Hole drilling into rock for footings anchoring - F7 -4nos CF1, F5	210.00	Rft	40	8400	8400	
2	Compound wall	Excavation for compound wall raft pcc	1082.73	cft	2	2165	2526	
	East side	Dressing for compound wall raft pcc	360.91	sft	1	361		
		Excavation for foundation of Office	744.00	cft	2	1488		
3 Site Office	Dressing for foundation of Office	160.00	sft	1	160	2448		
	PCC for foundation of Office	160.00	sft	5	800			
4	Steel Shifting	Steel shifting from west side to north side of building	10.00	Tons	Lumpsum	3000	3000	
-		1				Total	16374	

MEA:	SUREMENT SHEET						Ta 5 11		
Comp	any Name:	Crecentia Labs Pvt Ltd			Approved by:		Subba Reddy		
Projec	t:	GV ONE		Sign					
Work	Description :	Excavation, dressing and hole drilling into rock			Work start date:		21-01-2023		
Contractor: T. Kurmanna				Work end date:		02-02-2023			
Prepar	ed By:	Abdul Rahman					03-02-2023		
			<u> </u>	В	С	D	E=AxBxCxD	F	G=Sum of E
			A	Width	Height	Nos.	Quantity	Units	Item Head Total
S No.	Item Head	Item Description	Length	Widiii	Tieight	1103.	Quantity	-	
L	South block South west 6 footings	Hole drilling into rock for footings anchoring - F7 -4nos CF1, F5	1	1	3	70	210.00	Rft	210.00
	Compound wall	Excavation for compound wall raft pcc	72.2	5	3	1	1082.73	cft	1443.64
	East side	Dressing for compound wall raft pcc	72.2	5	1	1	360.91	sft	
		Excavation for foundation of Office	124.0	2	3	1	744.00	cft	
Site Office	Dressing for foundation of Office	80.0	2	1	1	160.00	sft	1064.0	
	PCC for foundation of Office	80.0	2	1	1	160.00	sft		
		Steel shifting from west side to north side of building 8mm &10mm	1	1	1	1	10	Tons	10

Bill for Equipment Allowance

T. Kurmanna 1-72 Pallamarri, Mahabub nager Andhra Pradesh 509409.

Date: 03.02.2023

In favor of:

Crescentia Labs Pvt Ltd.

Project / Site:

GV ONE

Location:

Genome Valley, Turkapally

Type of Work:

Excavation, Dressing and hole drilling

Towards:

Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Towards Excavation,	
	Dressing and hole drillinge works at site.	Rs: 6,549/-
	Total Amount = Rs: 16,374/-	,
	Work done from date 21.01.2023 to date 02.02.2023.	

Amount in words: Six thousand five hundred forty nine Rupees only.

Sign:	
DIEII.	

Bill for Labour Charges

T. Kurmanna 1-72 Pallamarri, Mahabub nager Andhra Pradesh 509409.

Date: 03.02.2023

In favor of:

Crescentia Labs Pvt Ltd.

Project / Site:

GV ONE

Location:

Type of Work:

Genome Valley, Turkapally Excavation, Dressing and hole drilling

Towards:

Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards Excavation,	
	Dressing and hole drillingc works at site.	Rs: 6,549/-
	Total Amount = Rs: 16,374/-	
	Work done from date 21.01.2023 to date 02.02.2023.	

Amount in words: Six thousand five hundred forty nine Rupees only.

Allowance for Consumables

T. Kurmanna 1-72 Pallamarri, Mahabub nager Andhra Pradesh 509409.

Date: 03.02.2023

In favor of:

Crescentia Labs Pvt Ltd.

Project / Site:

GV ONE

Location:

Genome Valley, Turkapally

Type of Work:

Excavation, Dressing and hole drilling

Towards:

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards Excavation,	
	Dressing and hole drillinge works at site.	Rs: 3,274/-
	Total Amount = $Rs:16,374/-$, , , , , ,
	Work done from date 21.01.2023 to date 02.02.2023.	

Amount in words: Three thousand two hundred seventy four Rupees only.